
Answer Scheme Test 1 CSC128 

 



 

 

 

 

 



 

 

 

 

 

 



 

 

 

 



 

Or char town[50] = "Bandar Jengka"; 



 

 

 

 

 

 

 

 

 

 

 

 

S = sqrt(R + sqrt(pow(Q, 3) + pow(R, 2))) or S = sqrt(R + sqrt(pow(Q, 3) + (R * R))) 
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QUESTION 4 
 
a)  
  float CGPA = 2.33; 
 

if(CGPA >= 3.50 && CGPA <= 4.00) 
 cout << "Dean's List"; 
else if(CGPA >= 2.00 && CGPA < 3.50) 
 cout << "Try Harder"; 
else 
 cout << "Under Probation"; 
 
ANSWER: Try Harder (1 mark) 
 

b) 
  int y = 2, z = 0;  

if (y > 5) 
 z = 14; 
cout << z; 
 
ANSWER: 0 (1 mark) 
 

c) 

 

 

 

 

 

 

1 mark 



d) 
int no = 8; 
 
if(no == 3) 
 cout << "The number is three"; 
else if(no == 8) 
 cout << "The number is eight"; 
 
if(no >= 1 && no <= 5) 
 cout << " and it's between 1 and 5"; 
else if(no >= 6 && no <= 10) 
 cout << " and it's between 6 and 10"; 
 
ANSWER: The number is eight and it's between 6 and 10 (1 mark) 

 
e) 
 

int a = 2, b = 6, c = 3, d = 8; 
int x = d; 
if(b < a) 
{ 
 if(c < d) 
  x = a; 
} 
else if(a < d) 
{ 
 if(d < b) 
  x = c; 
} 
else if(b < d) 
 x = b; 
 
cout << x; 
 
ANSWER: 8 (1 mark) 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 



 



 


